B (RIS FENEY Y RS R BT AT TT 5

119945

110456 =+ i 119574 =+ i 119944 =+ i

RimTh ﬁﬂ EIZ 9302 IREETH 'J\ *‘i 2 2053 ABEETH 5‘ 1% 2 27075 ARERTH EEE%M 2 28775

92.56ni/281F §iiliid 89.25n/271F §LilliEd 98.51ni/29. 8ﬁF Ei#ﬁﬁ% 106.44m/32.25F § L 3110E

@ e i@ i iE [ risiE ; @ e

] it ] it ] £t " ]t

[EEAL: 1535 [EERE: L1 EERR: T3 EERE T3

50/100 60/200 50/100 50/100

@ ®m/6m

ENEEES ; ENEEES EIEEES ENEEES

kS o Wxx kS

[ /S 248/ 55155

HEENISODICIZNETESEHANH

UETHELIIBHEEE<ZE !

.n.:tm! 119946 ﬁ:tﬂ!! 119571 ﬁiiﬂ’. '\1&947 .n.:tm! 119938
HME 855 ey FD L IR ny A S WYEHs: &= H VXIrH

i
178.51 m/54i¥

BERfIE

1,870z =

_=¢\

i BB X

BRI

&)
21 4.87rﬁ/65ﬁm 152.39ni/46. 1% (L0 148.76ni/45:F I LLn
r»iﬁrs ﬁﬁ’ﬁ#& — WEE »'iﬁrs
e el E"% EE e
%2@%@ %1&&% ,fmsz %%1&@% &
3 Ak )= - A
60/200 & /%]50/150 & /%] 60/200 50/100 o
E E e
[EII;EES (1] Enes [EIE:EES [EII;EES -
GEES 0 EEES GEES
INEEEE] = 119948
T HERRHE 2,392 S amanie 1,887
148.76m/451% 101.81ni/30.81F
zﬁg{ i) 4o & FE’E&{ ) =its
1 BIEE = M 1 TEIERE
A [B/8]50/100 | s [ = [®/3]50/100
-
[BI]483% E#Ex s HIE:EES kS
>
119570 n.:tﬂﬂ 119949

1,7057

WHBRERENIG| i as AMEHENMG EEHFTEES HRAME(9)514185
[A# #]T903-0804 H#MEMTANEERMET4T BH51FE#H2

e CREFH - sELVabeik 0120-858-369

Iﬁﬁﬁ-&ﬂﬂé%ﬂi?I#ﬁ%;ﬁl-&i&gmmgléﬁﬁ?ﬂﬁﬁ HIBRHE (5) E30955
T903-0804 MBHEBFRMHATAT B51FE M2 (2F)

B el

135.53ni/411F 164.95ni/49.91¥

fEmeEe Tt fEmar [T

EERE 1] - Bl -

AR [B7&)50/100 | AL (@78 60/200

Elme W Blax @z

NAE-BR NRE-ER
§ // )\e:ffam@gmmtn { o MEEIN—T HIBLL. HEIKRK.
; Yy «[l] 1 BRI = —n.
_a*n A + __& >< x 23 9
3 OKIKEN. J OKITAKU

B

|[ )

§$§




